EARAROBEEIERT — 2 N— IBISH —F

2012837220 (K) 26EE&HE4H

VN R ERiCFIAN—XT—505 CO H5%—M BRI R
[AE4£] 1% :130,000 ™ ~ 2#%:26,000”  3#%&:13,000”  4%&:0MH / 5&:0M
B BB mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. FLEFRER :30. 02— . — ABEL (BEE)
ilglg|rtA—7—0k o4 1% 1(3_0)6 2-2-2-2 | 38.4 4 (4_535) e
R:vY/ by THY BRF4LY v FRBE%S
“e R :30. -1-1- . — SEBe (BHE)
ol7l 7 —X K/xlY 4 4 e (11310/28) 1-1-1-1 | 38.7 3 422)7 e
R:TSAT7>X844L B: 718y b BENS
. KA : 54— — $REBX (BHE)
3l5]5 | L= Kx—J LR Iy A s BT 2 ‘g? Wi E
LZLRA Y E—T Bt/ 21x vy b (B) A3 —-KL—va>aE77r
N N FE . 74— — TEE (BHE)
4 NEZEIZER #H 5 ;_0 1.(331).9 7-7-4-4 | 39.0 1 <5+228) *EE—
v AT T BioA=2T)N— XH mZ
. SHEA .31, 87— 7 = RORK (BHE)
5 5| k=R T it 4 A (173;79) 8-8-7-6 | 38.7 7 g? RaiZ
R:Z2ZyYrl B:bh—KkIE—F2Z "e =&
° s =, 35n BREE :32. -3-4- . — HREEE (S
61111 NS T i 56.0¥ 1(322)3 MR Ee ° (4_6“3) RHEBE— B
L:7¥«4F2>3NFK B:T7v—L ke
N 5 | BRR— 1:32.8 3-3-3-7 | 40.5| — 6 540 | HE=E (BHE)
7178 | VI7T> 56.0 2 1/2) (g |FBES
AR vV —T BAA4XI T4 INHISH T 7—Ls
L E A . _0_0— _ =
3 3| FIaITARNAT # 5 gg_ﬂgl—“ (;is;;)) 9-9-9-9 |39.7 8 | 501 mgﬁé (BEHE)
L:ZNAF¥1—)b B:vA4xT14T7—L 1 ARTT — L
R N . HNEEFIIE :35. —-6-8- . — RERCS (ZHE)
9 gl 7T AN=K i 54.0 1(315)2 688 1419 ’ (4—%2) (/) *—247
LRZ R N=N— B:FJY270-7 K5
10l8liol 7A7ANUTY R B9 éJ;l_JaEﬁ (1574{1*’9) 10-10-10-10| 44.7 | — | 10 | 441 ﬁ%ié (BZHE)
R:4N820% vy b BT RLAEY b (-3) K& FREE
® 1—F—@EBIERL
1T=7r= 7,9,8,(1,5,6),4,2,3,10
20—F+— 7,9,(1,8),5,6,4,2,3,10
Ja=5= 7,9,8,(1,4,5),2,6,3,10
43—+ — 7,9,5,4,1,2,8,6,3,10
[ /N
B 9 670M 7 3 7-8 1,050H 3EE 5-7-9 820M
B B 9 110H e B 8-7 4,210 EH 9-7-5 11,930
7 120 B & 7-9 1,380H
5 110 B HE 9-7 3,760

ABICOVWTRDTEEERROODE. TR LIV,




